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The data sectors in a file are stored in one or more clusters, where a cluster is the
minimum unit of allocation (2 sectors). The File Allocation Table contains a 12 bit
entry for each cluster. This entry either indicates it is empty (zero stored) or it is being
used. If it is being used then the value of the entry is the number of the following
cluster in the file or a 'last cluster in file' marker. Therefore, with a starting cluster in a
file description entry, a chain of clusters for the data in each file is stored.

OPD Catalogue Handling

The OPD Microdrive system implements a catalogue by having two files called ICAT1
and !ICAT2, containing file description entries. These file have to be emulated by the
disk driver to provide the correct interface. The Open code checks whether an access
is being made to ICAT1 and if so specially sets up the Channel Control Area to fake a
microdrive catalogue on subsequent reads. The code for a QBA sets up this fake
information. The first 512 bytes correspond to the Volume Description Record. The
second 512 bytes have dummy entries for just two files, |ICAT1(@©PICAT2. The third
and subsequent 512 byte blocks have the real MSDOS file entries expanded for OPD
consumption (11 to an OPD block). The Load File IO operation for catalogue files
simply queues up several QBA reads.

Disk Change

No provision is made for the user to change disks whilst the drive is selected.
However, a disk may be changed whilst its drive is deselected. When a new file is
opened and the drive has been deselected, the Volume Information is read into the
butfer area to see if the disk has changed. If there are still any files open then the
current open will fail. ' '

OPD RAM Useage

The device driver grabs 1024 bytes as general working storage and N times 512
bytes storage for each disk FAT table and Directory, where N is their combined
sector count (in our case 3+11 = 14 sectors). The general work storage space,
pointed to be A6, is immobile and permanently frozen.
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